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No; for everyone disagrees with Shmuel

OVERVIEW

XMW ruled that if a M2 gave a Nown to a MPn, which was worth (much) less than
the amount of the loan, the rule is that if the m>» lost the Nown, the MY is exempt
from paying him anything for the loan. Initially the X7 wanted to say that X"
¥" argue whether we follow s"2X1W ruling (¥"9) or not (X"9). The X3 concluded
that no one agrees with ?X1w. Our Mo0In discusses whether or not the ruling is like
X1 (and in which case).

= 1301 HYNINYY 7299 (pmann Hannn M207 0w 3,00 91 maw) 03991 NYIAY P93
In 2°1777 Mnaw e the xm3 challenges this ruling of YRy (that 1738 11OwWHT TaX

1Nvn, even if the 11own is worth less than the loan), from a /73w which states -
- 290 *MY 750 09357 NYHY XINX %9 XY 9IN 191 MY 150 SPW 1YY Panyn ‘yoo

The MY claims; ‘I have lent you a ¥%® for this 11own, but the 115w (which I lost)
was worth a ®pw’, and the M7 claims; ‘it is not so, but rather the 1own was
worth three 21°7’; the rule is that the M7 is liable for the 7312w of a n¥pra 77m.* This

concludes the 7wn.> The X 73 asks; according to 2RW -
- 15D XA N1 SINPINY

But why?! Let the m> claim, ‘but you accepted the now»’, and according to YXmw if
the 11own is lost, the M7 is MW from paying anything!

mooIN cites (two versions of) the s'X M3 answer:
— Y9 NYT2 INIIY 9INRP 20 Y972 1PNINN DIVNPI WD 19) D990 DI

And the texts read and so too does '@ explain the s'R7) answer; ‘our 7awn
([in m»aw] which maintains that the Mm% is 2°1) is where they were explicit (that
the loss of the 1>wn will only cause an equal loss of the loan, but not the entire

' A v90 is the equivalent of two 0°%pw or four 2>1°7 (a HpW is two 0°11°7). [The 73wn is on X,3n.]

% The mb» maintains that the M™% now owes the m>» a %pw (or two 011°7). We subtract the value of the 119w (two
2™1>7) from the amount of the loan (four 2°11°7), the remainder of two 0°1°7 is what the 7171 claims he is owed.

3 The m> claims that the 71own was worth three 0°72°7, so therefore he owes the 7791 only one 1177 (4-3=1).

* The 1o is claiming two 017 (see footnote # 2), the m> admits to owing one 117 (see footnote # 3); this is a
classic case of n¥pna 77n; the MY pays one 137 (which he admits) and swears that he does not owe the other 11°7.

3 This mwn can either follow the view of ¥"1 (even if it was a case of 2131 W TaX), or X" (where the Nown was lost
7ywo1 [in which case X"1 would agree that he is liable for the 119wn]); providing they disagree with SXmw.

® The question on X is that not only should the Mm% not swear, but he should also be exempt from paying
anything, since the m%» lost the 11own!
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loan), when did %@ rule that nw» 1728 7ow»n 728, when they were not

explicit’; nothing was mentioned when the 112wn was taken.” This concludes the s'X723 answer
according to *"w"9 and 279077 NO7 -
- SN 0D SN 1N KON 9990 281 NIT Y SN NDY) INNY

According to this 8093, it is well understood that the X712 here could not have

said, ‘everyone agrees with »xmw’ -
= D10 YaYs NNY INMNYT NYY NN NN 29 INT

For if X'~ agrees with ®81w, why can the Mm% swear (that it was lost or stolen,

and will be exempt from paying for the 112w like a 1"w) and collect his money, for -
- 951 OO HNWIYT NAYON PN 5397 1Y 191 51

Granted that X"7 disagrees with 3'"'% (who maintains 7Dw»n anp 1"va),

nevertheless he should lose the entire loan because of s"»Xw ruling! This is so -
- 79w1a 19 95 MY N9 W XY 1raN

Even if nothing was explicit and the 11Dwn was not worth the loan, and it is
certainly valid 1272 that he should lose the entire loan -

- 2559 9349 H9IN 19N KY 1D KIY W97 599N IN)
And if we are discussing a case where the m>» was explicit, that he will not
forfeit the loan if the 112w»n was lost, ¥''% would not have argued with x".

In summation; According to >"w9, the rule of YRWw applies by w10 X?; however by w19 the M
does not lose the loan (above the value of the 1own). Therefore X"9 cannot agree with YW for if
he does, then if it was w19 R, why does the m%» collect the loan (partially), and if it was w19,
how can ¥"9 maintain 1NI¥7 172K 1OWHT TaX.

NN cites now another version of the 'R answer in MY2WY:
= Y9 NDTA PPNNINN DNN D97 HNIN 13939 NI r9Y YaN

However according to the 809 of the 1''9; the text there reads (in the s'X77)
answer), ‘our mwn (which maintains he only loses 1Owni 7310) is where they
were not explicit; no stipulation was made when the 11own was taken -

7 According to this version, the ruling of Xmw is a (greater) novelty; every time a 112wn is taken, the m» risks
losing his entire loan, even if the 110wn is worth considerably less than the loan. See footnote # 11.
¥ mooin is explaining why our X3 here could not have said that YXmwT> Xn°X ¥"5 (according to this X073); we could
not explain the nP17mn between ¥"M X" if they agree with PXmw, regardless whether it is a case of w5 X7 (where
sRMw ruling applies) or if w1 (where s">%mw ruling does not apply), as NOOIN continues to explain.
% If we follow 5Xmw that the entire loan is lost even if the 71own is worth less than the loan, then certainly the entire
loan will be lost if the value of the 11own is equal to the loan. [The 17°5X may be referring to the "1 &9. Alternately
the 12°o% can be referring to wd X7 that he will lose the loan, and "3 if he was wd that he will lose the entire loan.]
' When a stipulation is made we follow it; whether the w*9 was that nothing should be deducted from the loan if
the 15wn is lost, or whether only the value of the 115w should be deducted, in all case we follow the stipulation; how
can there be a np2nn! See (however) ‘Thinking it over’.
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= yymyn 95 AN Y971 ININY)
And the ruling of »Xww is where it was explicitly stipulated that the m>» will

lose all his money if he cannot return the 1own -
= Y9 NYTA 1PMYN DO TaNIW NI2D PRT 9P ON 13299 NN 1)

And it also appears to the n''1 that this is the preferred X073, for it is not logical
that YX1w maintains that the m%» should lose all his money if w95 X —

mdoIn will now explain how our X3 assumed initially that ¥"91 X"9 argue in oxmw: 2
= ININYT DD 1Y ITYION 2297 INIMYWTL 1NIINDD SPINT INNDY IVIY 3O

And this is the explanation according to the one who established the dispute

between ¥"71 X" in PRmw; that K''2 disagrees with »X12w (we do not say 1owni Tax

PRI 93 172R) -
- Pxon PRN9NONRT Dru XY YWII9T 23 HY 9N

And even if it was w95, the stipulation will not be effective, for it is an Xn>%0OR -
- B1509n XY 199UND 139Y A1 D) NIYNN YY BYPNN MYN TN N7 11599

So since the Mm% did not lose the money which is more that the J1ow» is worth
(for that stipulation is merely an Xn>noX), he also does not lose even the money

which corresponds to the value of the 132w; the mv» collects his entire loan -

- 79921909 935 159 MIND MY (0w 3,0 97 85) Y 1IN YINTD
As the X3 states in w1 371398 195 ‘did the MY say to the m»; ‘acquire this Nown
to collect your debt from it”’? Since he did not say X1»213% *1p, the m%n cannot collect his loan
from the field in lieu of money. This concludes the view of X" (according to the 11"9). NvOIN

continues explaining the view of ¥" -
- 19937 Y 19530 TPPOAY IMNRY KIPN RIN *NNINON 217910 KT 920 KDY %29

And ¥»''% maintains that here it is not considered an Xn>»oR, for an Xn22OX is

' sxmw ruling is more readily understood according to this X073 See footnote # 7.
12 Seemingly if 9Xmw is discussing a case of w7°0; how can X" (or anyone) disagree with YXmw; it was w97
" The term Xnanox, literally ‘a support’, is where one person commits himself in an outlandish way; he promises to
meet his friend tomorrow, and says, ‘if I do not come there on time, I will give you a substantial sum of money’, and
he did not come on time. The rule is that he is not obligated to give him any money, since he never intended to give
any money, for he was sure he would come in time, and he ‘supported’ himself (he relied) on this ‘sureness’ that he
will not have to pay the monies promised. 19010 will shortly offer another example of an Xn>noX (footnote # 16).
' Therefore the mn never agreed to forfeit his large loan if he cannot return the measly 115w
'3 See later in this Moo by footnote # 25.
'® The case there is where a m> told the 79 if T do not pay back the loan within three years, this field (which is
worth more than the loan) is yours. This is an Xn3n0x and the m?> gets to keep the field (and can pay off the loan with
money. X9d 17 wanted to say that the m>n can at least claim part of the field (which equals the value of his loan) as
payment in lieu of money. The X3 rejects this, saying; did the m? say X1°°21% *1p.
17 We see from there that when there is an Xn2m0X because the offer is outlandish, then there is no deal even 2177 7210,
'8 Therefore since he was W™D, the Mn loses the entire loan.
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only when he says something in order that his friend should rely (rest) on his

words -
- 1T NOYN DIUN TN N9 9PN BN s

For instance if the 121 says, ‘if I will allow the land to lie fallow and I will not

work it, I will pay you a thousand 71’; this is an Xnonox which is worthless -
- “)awnn 109° DX 1330 5 SN MYRH NN YaN

However, here the m%» is forfeiting his entre loan if he loses the }1own. This
concludes the 1"75.

MmooIn asks on the 11"o:
- Y97 %1 ZONImWT 1Y 1IN NIDY 2919 NN 9INP NY INNAN 1T ND99) 2997 NUP)

And there is a difficulty; for according to this X093, why does not the X721 say

here; ‘everyone agrees with ®X12w when he is @D (that cannot be the npyomn
between ¥"71R"7) -
— 959199 DAY $29732) WD XYY Pt MY Mwa XM

Rather here (by the np171 between ¥"71 X"9) it is a case where the 110wn is worth
the amount of the loan and it was not @s92 (that Ynmy» 1728 NowWHT 7aK), and X"
y"71 argue in v'"'Y’ -

mooIn explains why the X713 should have said 2X1W7 177 NOX ¥"'D:
= 0NN NN IND R0 SYT9N )INI 297 2onimwyt 15nmMa Xnavh NNT

For the 7597 is according to »Xww, since 1'% and the >¥77771 agree with >Xnw

' This is a case where someone (an o™ &/sharecropper) rented a field and committed to pay the owner either a
certain amount of produce or a certain percentage of the harvest. The 5>7%/712, in order to secure the deal, promises
the 7°>wn that in case (you are worried that) I will not till the soil, etc. I guarantee you that I will pay you a thousand 17
if I do not work the field. The 727w has no intention of (not working the field and certainly) giving the 7°2wn a thousand
1. He is only saying this to have the 7°2wn rely and be supported (Xn210X) by this promise. See footnote # 13.

% In the case of the 0¥, the 0 is interested in acquiring his tenancy, so he makes an outlandish promise. We all
understand that the 07X intends to till the land, etc. therefore his promise of a thousand 17 is an Xn>noX. However by
the 1own, why did the m>n stipulate or agree that 1°myn 1728 119WHT 728, he has the upper hand. He can easily refuse
the loan. There is no reason for him to exaggerate; therefore we say that (for whatever reason) he is serious that he is
willing to forfeit the loan if he cannot produce the 110wn. It is not an &n370K!

! The X3 when it wishes to change its mind that they do not argue »X1mwTa but rather pr¥> 172, had two options
(according to the n"), it could have said 2Xww7> 1% 02 ¥"> (which it did), or it could have just as well said nR ¥">
OXMWT? 172, why did the X713 choose the former but not the latter?!

2 When we previously assumed that *325mp X 1w7a their argument is both by "W and 11 " " &9 (and by ),
but now that we maintain 7X7w72 112 N°X ¥"2, the argument can only be if it is *w (and w9 R?). It cannot be by w9
(that 1>myn 1728 1DWnn 7aR), for since all agree with 9Xmw, why does X"1 maintain that the 777 collects the loan. It
must also be "3, for otherwise why would the m%n lose the money above the value of the 11own (according to ¥'")
even if he agrees with pr¥> ", since s'pn¥> " ruling only explains why the m%n loses 119wn:7 7335.

* The X723 should have therefore said we would rather that "1 X" do not argue in 7X@ (and X" disagrees with
SX1MW), but rather all agree with 78w and they argue in prx> ' etc.
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there in nhaw 'on,** so why did not the X753 say YR 77> MK ¥"5?!

MooIN answers:
= PIVNN 123 TP09 ) YWD NITA 2NN DI TN Y972 INT NI 9207 91D v

And one can say; that the 87%3 assumes that if by w5, the M7 loses the entire
loan (because of 2X1W), then by wn X the 7171 should also lose part of the loan

which corresponds to the value of the 12w -
- B0 U919 PIYNN TNV Nnd

For that amount of the loan which equals the value of the 15w is considered as

if he explicitly stipulated that if it is not returned, that amount should be deducted from the loan.
= HNINYT INY HON NNIDY 1915 9199130 s8n KDY 191D

So therefore the X723 could not have said; ‘everyone agrees with ®Xmw”’ (even x") -
= MM Y2 HVN Yaws NNY MNYIYN 22495 )9 ONT

For if this is indeed so (that 5Xmw5 7°% n°X ") why can the MY swear and take

all his money according to X''9, when the rule should be -
= INNYT NPD NHONRT 1199 1O09ND 1D W PIUND 1OV NNY

That the m>» should lose the amount equal to the value of the 12w, since X"
agrees with bR, This explains why the X713 could not have said (regarding the npi>nn
between ¥"1 R") that all agree with PXmw, for if X" agrees with 7Xmw, the M>n should lose the

part of the loan which is 119wn:7 7212, but X" rules that the 7197 collects the entire loan.
- Py5997a HxIYWS XNAYN 0PN Yo

But nevertheless (even though the X 13 writes XvwT 17772 N7 ¥"), the 17297 is like

BR12W by @D (even though X" disagrees with Xmw).
= HNINYWI NODN PNT YD HNIN 13939

However the 1''1 maintains that the 172977 is not like ®X»w -
= ININYT INT 5D RNYY D10 NON 9INPT DIVN NIYY)I

And the reason is because the X3 states here, ‘everyone disagrees with »xmw’ —

2 9,0 myaw. See footnote # 28; if the X3 could have said YXmw» 172 n°X ¥"3 and chose not do, it would indicate
that the 173577 is not like "Xmw. However, n19010 maintains that the 770977 is like 58 mw. See later in this n1woMN.

* This is different from that which we assumed previously (see footnote # 15). When we assumed that X" disagrees
with XY (even w*1572), we can understand that by w0 X% the MY does not lose even 11own 7313, for since even
by w7 it is an ¥n2noX (according to X"7) because we assume that the 119wn is not in lieu of payment, so certainly by
WD K7 it does not replace the loan (even 12w 7210), it is merely an incentive for the m? to pay. However now that
we assume that X" agrees with PRmw (by w19) even when the 119w is less than the 2 (meaning that it is not an
XN2MOKX), because a minimal 112Wn is considered as payment for a large loan (meaning that a 1Own"is not merely an
incentive, but rather a form of payment), it therefore stands to reason that even if w*15 X%, nevertheless whatever is
712wni 7A10 is considered as if it was explicitly stipulated that this portion of the loan is to be paid with the T1own.

' We do not say that it is an Xn2noX. See footnote # 11.
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Mmoo does not accept this reasoning:
= 1951197 2) DY X 1NY 5D NXNDY D197 MNTD NININ T97 19Y AN 11 PN

However, this is no proof (from the fact that the X7n3 stated 2XmwT 1777 N9 ¥'"),
for this is the manner of the X9%3 to reject a proposal and say, ‘no one agrees

with this proposition’, even though it is the 715%:7; the reason the X3 does this is -
- 2ym5 598 N5y 1919 910905 81 NYT 1199

Since the X713 could not have said, ‘everyone agrees to it’ (as is the case here, where
we could not say PX1mMwT 1% NR ¥"3 as MooIN just explained) —

mooin offers an additional reason why the s'n" proof is invalid, and the 71377 is PRww>:
- SNXINYTI PIINNY RISDY 539 SN TINMUTA 23999 N299 )9 R1IPT HNAND 1997 TN

And furthermore, in actuality that since we establish the 72777 like 7729 (that a
TTAR MW is a 1"'Ww), so ¥ X" must argue in XMW, it turns out that ¥''1 and

our w» follow YR -
- P15y A998 297 23 HY AN INIVTI )9 N1 13 ON)

So therefore we will establish the 71977 like ®812w and even though 39 argues

with Hxnw -
- 2112999 299 KON M7 (0w 3,nn 41 w5y ANTN P9I NANT

For in 27157 P92 the X3 compares the argument between 29 and 1M

7 Let us use our case as an example. We have the np1onn between ¥ X"1. We are not certain in what case they
argue, or the reason for their positions. First we attempted to say that they argue ?Xmw72 and "W X772. However we
cannot be sure that this is so. Therefore if we cannot find another way how to explain their npY2nn, we may assume
that their n12mn is PX1Mw7a. The X3 however feels we can find another way to explain the npy2n, and we do not
need to say that they argue 2Xmw7a. Nevertheless we first need to understand, if they argue in something else ( 172
AOY 1712 ,pnyY), what do they maintain regarding 2Xww. The X 13 could not have said 7X@ 172 n°R V"3, as MoOIN
just explained, therefore it is expedient to say 2Xmw? 172 n°? ¥"3, even though it may not necessarily be so; it is
merely a "7 a deflection. We do not know for sure what their N1 is based on (whether on pr¥> ' 28w or *").
% However, in a situation where the X3 could have said the ¥"3 in both ways (either 7% n°X or 7% n°%), and chooses
one of these two ways then it is ‘proof” that the 715777 is like the one which was chosen. See footnote # 24.

* This disproves the 1" who maintains 9Xw> 12 N ¥"3, for according to the Xpon, there is no other way how to
explain the N2 between ¥" X" other than to say that *»%5 9X1mw73; they cannot argue pr¥° 172 since his ruling
is only XY nywa R7w [while the np17nn between ¥"1 "3 is XY nywa]; they cannot argue H0Y 1172 since the
7097 is like 127, not like oY 29. Therefore we must conclude that both our 73w and ¥"1 (who rule that the 7191 loses
the loan), agree with >X1nw.

% We do not find explicitly that 27 argues with YXmw regarding 1myn 1728 1owWnT 7ax; however we can infer from
the following N3 that 27 argues with 2RX11W in this case as well. See footnote # 33.

3! See "wn there 1mM3A 717 that the term 1127w (guarantee) here means that the buyer told the seller that he will buy the
item and as a guarantee deposited by him a sum of money (less than the full price of the sale) stating that if the
buyer backs out, the seller can keep the money. 7171 " said that this 127 is like a "3 and neither can back out,
while 27 maintains that the 137 is effective up to the amount of the 127y, but not for the entire sale. Regarding
7P0%un, which is not 7032 mIp1, the argument between them would be regarding a y7ow °n (see footnote # 34);
according to 7171 " reneging on any part of the deal invokes a ¥19w 1, while according to 17 there could be a "
¥19Y only if one retracted 1127¥7 7315 but not for the amount more than the 1127.
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regarding 1127y -
- 22359 NON MW 139N) 522 19299 INIYII )2 PYNY 1297 XNV

To the argument between 2''3w9 and the 3139 regarding the case ‘where it is

only worth half’ -
— PuninmwTY 13391 IO 12 PYNY 1397 RONYD 3T (3,10 91 MPIAWA)

And in mpiw noon the X3 compares the abovementioned npY»n» between

3''2w1 and the 3327 to the ruling of ®Xw -
- 999082 295 1991 F9nN XNNOIRT Py 9 1ayh 291 HNIYT KON 19 ON

So therefore that npion» between 21 and 812w regarding a yasw "», was
taught in reference to an =99°8 matter and the 17257 is like 29 against Y% in

MO°R matters -
- 753992 SNAYWA KNP 90NN N1 19385 ININIWT M) XD

So here too the argument of »Xmw was taught regarding monetary issues, and

the 17557 is like »Xmw against 27 in monetary issues -
= ININYI 9209 PP 39N 1D 1IN 2297 T
And additionally >'' argues on 27 in the case of 1727 and agrees with »Xmw
that the 112V is 9277 7310 7P -
- 2513195 9395 157 13N %291 29 19 NP

And we have an established rule that in a nP1>nn between Jam® 2™ 29, the 7997 is

32 The case there is where a 7%9n lent money for a 11own, which was worth half the loan, and nvnw passed; 3"2w1
maintains that 70w is not bnwn (the M1 collects the loan), while X°w17 °"7 maintains that 7vnw is vAWH (whatever
is more than the value of the Nown), w">>y. 111 "1 (who maintains that the minimal 1127V is 9571 712) would follow
3"2w (that a minimal 112wn exempts the entire loan from 1w nY), while 17 (who maintains that one is 1p only 713
1127v77) would follow X°w377 "1 (that the small 115wn cannot prevent 7u»w from the entire loan).

3 3mawn (who maintains a small 11ow»n exempts a large loan from v W) agrees with PXmw thatPniwn 178 OwWHI 7aR
so therefore if there is any 1own, there is no nwnAw 17, while X°w17 > disagrees with ?X1mw. We have here several
arguments that are interdependent on each other. A) the case of 1127¥, B) the case of 7vnw, and C) the case of the
1own. The X3 compares case B to both case A and case C. It turns out therefore that HRXw1 271 (who take sides in
the argument of 7vnw [(case B) where according to 27 the 199w is not effective 21177 92 7213 and YR1mMw will maintain
that the whole 211 is exempt from fvnw]) also argue by 1127, where 21 rules 1127 7233 and 7X7w will maintains 7315
1213 (like 7am1 " and 3"awn.) They will also argue by 1ownn 9¥ m2nn where 2R rules 1°NIwn 178 1Own 7aR (like
3"2wA and °"7) and 27 will maintain he loses only 1owni 7215 (like Xwi7 >").

** ymow *» (literally, ‘he who extracted punishment’) is a type of curse that we impose on someone who reneges on a
sale of Poubun (movable objects) where there was (only) a transfer of money. The rule is that 170201 cannot be
acquired withy money (it requires 72°wn ,77237 or 1°9°%0 1°3P), nevertheless once the buyer paid money either of
parties who retracts is subject to the ¥15w >» curse.

¥ See footnote # 31. The X3 there is (mainly) discussing the rules of ¥19w . A ¥y19w *» is a ‘religious matter’;
there is no money issue. We need to decide whether or not he receives a y15w "n.

% We are discussing here whether the 192 can or cannot collect his loan; this is purely a monetary issue.

71t would then seem that regarding an 1">u%u»2 127"y, where the issue is (only) ¥79w *», the ruling would be like 27
(that the y795Ww “» is only 1127¥7 7a10), however if the 1127y was given for ypp (which is 71932 73p1 and therefore 17
mnnn), the N27v would be 5077 A anp. See 11 N A" R AT 2,00 20T 0w,

¥ It is therefore possible that even by 1127, which is MoK, the 719%71 is not like 27 but like PXvaw? >".
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like >''9 -
$ININYA 920 XYY 2913 235 33573 )Y N1IP 119N 299
And we also follow 1'% in monetary issues against everyone (no matter who

argues with him), and 1" agrees with YX12w, so therefore the 11597 is like Y% (in a
case of ¥ 1).

SUMMARY

According to *"w" the ruling of PXWw is (even) by w15 X9, according to the n'"1 and
n"7 the ruling of 2XW is only by w»5. The n"1 rules like PR w while the 1"9 does
not.

THINKING IT OVER

MvoIN states that according to >"w7d, it is understood why the X713 here cannot say
HRMWT? RNR V'3, because if it is w9, how can ¥"1 argue with 8"1.” Seemingly we
can say that they argue in a case of w19, if, for instance, they stipulated, that the
loss of the 112wn should not incur a loss of the (emtire) loan, however they did not
say whether the m%n should be liable for 77°28) 172°13, and this is the npY?rn between
"1 (that he is 2»1) and X"9 (not 2m)!*

¥ See footnote # 10.
40 See X"wAm and TM5NT WAON R # 100-103.
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